



Naam: _____

Datum: _____ Score: _____

$$7^{(-2)} + (-10) =$$

$$(-1)^{(-2)} + (-1) =$$

$$7 + 10 =$$

$$1^0 - (-3) =$$

$$(-7)^2 + (-8) =$$

$$8^{(-2)} + (-4) =$$

$$7^{(-1)} + 1 =$$

$$(-10)^{(-1)} + (-9) =$$

$$3^{(-2)} - (-3) =$$

$$(-7)^{(-2)} + (-4) =$$

$$1^2 - 3 =$$

$$(-6)^2 - (-3) =$$

$$3^2 - 3 =$$

$$8^2 - (-10) =$$

$$(-4)^2 + (-9) =$$

$$(-3)^{(-1)} + 3 =$$

$$(-6)^2 - (-7) =$$

$$(-2) + (-10) =$$

$$(-7)^{(-2)} - 9 =$$

$$(-8)^2 - 3 =$$



Naam: _____

Datum: _____ Score: _____

$$7^{(-2)} + (-10) = \left(-\frac{489}{49}\right) = \left(-9\frac{48}{49}\right)$$

$$(-1)^{(-2)} + (-1) = 0$$

$$7 + 10 = 17$$

$$1^0 - (-3) = 4$$

$$(-7)^2 + (-8) = 41$$

$$8^{(-2)} + (-4) = \left(-\frac{255}{64}\right) = \left(-3\frac{63}{64}\right)$$

$$7^{(-1)} + 1 = \frac{8}{7} = 1\frac{1}{7}$$

$$(-10)^{(-1)} + (-9) = \left(-\frac{91}{10}\right) = \left(-9\frac{1}{10}\right)$$

$$3^{(-2)} - (-3) = \frac{28}{9} = 3\frac{1}{9}$$

$$(-7)^{(-2)} + (-4) = \left(-\frac{195}{49}\right) = \left(-3\frac{48}{49}\right)$$

$$1^2 - 3 = (-2)$$

$$(-6)^2 - (-3) = 39$$

$$3^2 - 3 = 6$$

$$8^2 - (-10) = 74$$

$$(-4)^2 + (-9) = 7$$

$$(-3)^{(-1)} + 3 = \frac{8}{3} = 2\frac{2}{3}$$

$$(-6)^2 - (-7) = 43$$

$$(-2) + (-10) = (-12)$$

$$(-7)^{(-2)} - 9 = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$

$$(-8)^2 - 3 = 61$$